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GEMNERAL AWARENESS

1} Mon-banking Finance compames (NBFes) as per the
provision in the new companies Act have o nmindzin
what percen of the momies in low-inlenes! seourmies o
SLR-hacked imstrmments?

3% 2 10%  3)35% 9 15% 5)25%

2) In its first b-monthly monetary policy sialement issued on
1 April 2014, the REi announced which magor relief for
zaving bank accoont holders?

1) Customers need not submin photograph at the time
of opening of Demand Deposits

2) Signature may not be talied for non local station
cheques

3) Account holder not responsible for the deposited
fumnds =0 he is indirectly allowed o do money
laundenng

4} Banks to cut down serices on low-balance

accounts and do away with fines.

3) Nomination once given, il 15 final and cannot be

changes laler

3) RBI's hagh level working group has suggested
forming a Financial Resolution Authornty (FRA)
fhat would be responsible for there solution of fadled
and distressed financial institutions m India
The group headed by ..

1) Raghuram Rajan 2) PJ. Nayak 3) Anand Sinha
43 K.C. Chakravarthy ~ 3) None

4) Why did SEBI 1ssoc detsled corporate
norms for listed compamies on 17 April 20147
{The new mules will be effective from 1 October

2014
1) In ovder 1o tell the RBI intervention

COTMPETES
3} To encourage companies 1o adopih

E}Knt!;ﬁ:&hﬂ' 3) Aur Asia
i mumadllmuﬂn
every monih starting 4 June
old savings of up o discourage

2 Rs. 25,000 Crore 5) Rs. 45 000 Crove
4) Rs. 75,000 Crore  5) Rs. 15,000 Crore
8) Which nation replaced Mauritius as the top source of
foreign direct investment 1o India accounting for
aboui 25 percent of FDh inflows in 2013-14 as por
ra pohey and

‘eatidal was celebrated in
spd from vanous parts of the
aie the three-day-long

: 2} Gangaur 1) Pushicar Mela
estival  5) None
/W'ﬂﬂ?ﬂdﬂﬂ*“!ﬂﬂﬂﬂfﬁﬂms
Ciamies contumzent for the games to
asgow in July 20147
Shamma 2) T.C. A Raghavan
4) Indesjith Guptha

4) Kerala 5) Mone of above

14) Sania Mirza snd cara Black won WTA Portugzal
open 2014 women's doubles title on 3 May 2014
Sania belongs 1o India andCara Black belongs o
1} Serbia ) France 3} USA
4) Zimbabwe 5) South Afnca

15} Para Olympician sharath Gayakwad won two
Bronee and one silver at the TOM (Iniemaional
deutschen melsterschation) on 27 April 2004 be is a
1) Swarmmer ) Cychist  3) Cnicket plinyer
4) Shat put player  5) None

16) The Asia pacific Economic Co-operation {AFEC)H
details are given Locate the cormect option
17 It is the group of 21 Asm Pacific  Nations
2) It is om economic forum established m 1989
1) his head quarters is in Singapore and India s not

a member m

4} It holds 4074 of the world populaion
5) Al of above

17) 25™ APEC summit held on5-7 October 2013at .

1Y MNew Dellu 2) Bah  3) Moscow

4) Canherra 5) hone
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I8) Unded Mations Intematsaal Telecamm
pmcahonatsens Umon {TTU) 2aid how many
Inbemes users will be there by end of 20047

13 3 balliom usas 2} 13 ballpon users
323 hillion users 43 2 hillsomy users
5) 4 hillion users

Ty Uibed Maioee: irdemational Tebsacoonmanicatinns| [TLT)
exinhlished cn |7 Moy 1B65 s hesd quaniers is in
pemeeva, Suilacrkand s head is Hamadoun Toure
Dl omgts i

U Mail 2 Maldives 33 Egypt 4)Chile %) None

M Sushma Swarsy become the first.

I} Women goversor of any siage m indza
2) Women home mimester of  Lndis

1) Lasdy Speaboey of Loksasbha

4) Extemal Affnirs Minster of  India
3) Health mimster of India

21) Election Cheeus Management system first fme
introduced in the Bardwan distnd m o6
3™ April 2014 an the eve of 2014 Genernl
Eblechions!

1) AP 2) Taamil naacha
4 (hdigha  5) Wt Hemgal

27 Presadent pasl Kagame Tit o torch which will bairm
o 100 larys, the lenggth of vime a shameful
pemacide lasted in the country m 19594 1n whach al
beast B lakh people ware killed Pasl kagame is the
presadent of
1y Raanda 2 Souwth Afiea 1) Zambia
4) Migerin  5) Taneania

23) South Swdan and the natton's rebel ammy spned
o pesce deal on 9 May 2014 the cumency af’
sarth sudan 8.

1) Sonsthy sudan Diaodlar
) South sudan Euro
1) Sauth sudan neble
4} South sudan poursd 3 e
24} IRIDVA {Insursnce Regulatary  Auwthonty of India)

3) Bibar

the prime miniser’s 15 poist programme_for
mimities submitted iis report recently?

carmarked | &5 imsrance day On which day o came

i by existencs i the year 20007 5

DEJan  2)15Apr 3)20 May 4) 19 Apr 5) None ~
5 ) Whao heads the commites o assess impl

of the sachar Commates tecomumend m% \\\

1) Vijay € kelkar  2) VR Kurishna byeh-. /\
S

1) Amitabh Kusdu 4) seroja pandey
26 Water peace amd War- Confrot;
crists’ wrilien by s

1) Begum Raisana  2) Grahgan paiana - -W

3) Bralna Challaney  4) yay

5) Nane /\\\ y,
27) “Hard Chowes" wrilsin b, - d

1) Joha Swifi 2) Abd

4) Dbama
%) Akash missile ¥ @_ﬁ_rgi‘ﬁé; megrated
"Test Range{ dapur i Chdigha it is @

) hur!m;?f ﬁb\)

) Air o wrle

43 A bo veabor | hlissile Mone
Wh

Participani_is sl o5

1) Mamcnializsion Ty Polarization
3} Conversion 4) Prioriienismm
5 Dernatensalicsiim

31) The Okavanpn Dehia became tee 1000 UNESOO warld
heriinge site in June 2004, B s in 7
1y Marmshia I Zimhatroe  3) Mak |
A} Beplzmana 5) Sonith Alrics

3] Giro Harlem Brondiland was swarded with the Gorst Tang
prese i ssstninabde Develommend i Jue 200 4. She i the
former prime: Sllinisier of *
1) Dewmmarek. ) Mamrwany
47 Motherbeet: 51 Aisiics

33} Thee Tamg, Prize is anarded oo & hiennil hesis in foor
carepodes. Which of s fofllowmng e nol ons of dhem?
1jfusiminable Developanen, 7) Biophanmaceaical sciemce
I Simologey  J)jRuleolLaw  5) Literature

34) Which Hindy poct. was chosen for the prestngous Isampils
Award For 200 5 oo JuneX, 50147

3} Finlassd

1 b Sumnlranandan pami i ghnph Dinakar
¥ Maresh Mehis 43 simeh
5) Mone of these ..
5 Which India bom i Lhe 2004

k un ke

¥ smil R

) A Taiwan 4y Hussam 3 Japan

v willl st the 41 (FUGE summmit m 20057
My hmly ) Gy 43 UK 5) lapan
appointed 35 geovemor Sinne bk of
with effect from Apnl 29, 20047

- He succnsied vasasn Amaar )

Hasain
1l Hafiz Eardar
Home of these
201} The Inlemationad Maive and  wheal smprovananl cemler
(CPAMY T 0 licabed an®

X} Sved mbim B
4] Ashral Muhrmood waibry

1) Mdeicn LKA 1) India
4 Pinhppires 5 Canada .
(TEST OF ENGLISH LANGUAGE

IHpaetiony (41.58) Head ihe following paseage cane-
fally and apawer the guostions given below il Cerlain
wards have been printed m bold to help vou loeate them
whila answering some of the quesions

Gerrind's falher wag a rich landlord, who s loved and
respecied by all his tenanta, When he died, he left large
rmets of land to Govind. Bt Govind did sot gpoend 4 mngls
day Josking aftar hie land. He had a fonny idea, that Than
eansted & magic poticn which, if it was poured on any object
woald torn 5t indas godd. He apent al? his time tryving to learn
more aboat this poticn. Peaple took advantage of him and
chegted him. His wife grew anxious. Given the st of
meniy Govind was aparding, ehe wos sare that they would
soan be pawpers

e day, & widely respected sage who had been 1o ghe
Himazlayas came ta their v Govirad sekd him aboat the
podion. To his sarprise the sage ansvoiced, "L have leamt
w1 beerr such a potion. But it is a duffiealt process.” "l il
me” insdeted Covind, hordly able tu believe his lopk, "Yau
have to colect the dow which sedtles on the leaves of a
banan Lron every moming during winter. Thers is a cond |-
tion theugh. The tres zhoubd be planted and watered regu
larly with ¥ear own Babida Stora the collected dew in an
parthen yesmel and when v have fee lires, bring it o me,
| will recite a sacred manira to transfiem the dew i the
podbon, & drep of the potion will be sufficient to chonge any
obsect inba gold™.

{Fovind wis worrisd. "Winter i ccly for a few mentha m
e voaar 10 will Lake me wenrs B oodleed th dow®. "You oan
plent as many trees as you want,” replied the ssge Govlod



went home and after talking 1o his wife, bagan clearing the
larpe fields which has been lylng wecast for vears. He
plamied rows of banapg saplings, He tended them with
great core. His wife belped him oo, She would take the
Banana enrp to mearket aml el & good price. Over the years
the plantation grew nod finally after six years Govind had
fve litres of dew. He went to the spge who soviled, uttered
a mantra and sprinkled a few dregie of dew on n copper ves-
i, To Govind's dismay, nething happened. “You heve
cheated me!™ he showted at the sage.

The aage however smiled. Govind's wide then came for.
ward with a box. The sage cpened it and revenlsd stacle of
gold ooims inskde. Tuewing to Govind he sid, "You worked
hard on your land and created o plantation. yowr wile soid
the prodisee in the market Tt was your band weork which
cregted this wealth, not magie, IF 1 had 100d vou this earli.
ér, ¥ou would not have listemed * Govind undersicod the
wisdom behind the enpe’s words pnd worked evon harder
from that day on
AL Why did Govind's father give him large plots of
lamd?

1. Tt was his way of instilling o sense of respoeceibility
in: his som

2. Govind was his anly oo and sobs heir

&. Ta provide Govind with suffieient. fusda to pursos
his interast of discovering & maghe potion

4. He wanted Govind to sontinias o look after the ten-
anls

8. Mons of thars

42 Which of the following can be said abount the

gl
1. He wak cusning and plotted with Goviad's wife to
cheat kim

2. He had ro magical powers ag sach and wsed o
swindle peopls

3. He waos o good judge of people

4. He did nit degerve his guod seputsiion

5. He was dishonest Bacanss he bod cheated Cevind
ot of his gedd

43 Why was Govind's wife worrled 7

1. Oevind had no knowledge of farming and could
caltivate the land he had inkerited from hisd

2, Cowind had not fiends because ho wae obesissd

with finding & pedbon whick would, turs ™
into gold

3. Gowind was caly intereated in

4. Smee Govind had devoted alf
finding a magic potion they

d was suitable only for cultbting

5t highly priced commodity in the
FEginm

& It could be grown al any iime of the year including
winter

4. His wifs pressursed him o di so

5. The ingredient for the magie potisn crald anly be
nbtainaed firom & banana tres
46, What made Govind angry with the sagpe?
L. The sage bad conspired with Govind's wife ogninst
him

2. Ho had forgoties the mogic spell and all Guvind's
hard work was in vain

4. He had Iost a good deal of monsy in cultivating
hanamasz

4. The sage hod made a fool of him in front of other
willagers

& MNow of thess

47, How did Govind acqud

his dream of gold final-

pwand for his bard

g he had recalved

ad ever actually been to the Himalayss
2. Both A and B
4. Both A snd

2 houghs
4. settle
&, amply
50, L¥YING
L sheeping © 2. dishopest
3. relaving 4. remaining
8. untrathfui

Dhirections (5I-52); Choose the word which is most

opposits in mesning to the ward printed in bobd as weed
in tha passape.

6, DHSMAY
1. joy 2. intarest
3. desire 4, lumour
8. hck
§2. TENDED
1. negligible 2. watched
&, inclined 4 igeored
5 spoil
Directions (5357 Which of the following phirases (1),
(21, (3} amd (4) given balew sach sentoncs ehould replaos the
phrass printed in ifolic in the ssntence to make it gram-
matleally correct? I the senferce is correct ag |f is given
arid "Nov carrection is requined’, mark (5) a5 the snswer
il Startl my own business st this time would
et the fnancial stability of my family,
L. Btarging up ey 2. For starting with
3. To start gal, gise 4. By starting any
G No sarrection requabred
6. Use @ factle for miving the inferior with good
quality rive is dishonest and you will lose your
license,
1. Using tactics as 2 using = tactie ke



#, To use taotios 4, used to Ractica Hie

5. Mo corveetion required
55, The company wdll invest more six hundred

rrores in the next five vears to expand its opers:

tians in Britoin.

1. willl further knvest 2. has inverbed more than

i, kave tnwested over 4, will bo invvested above

5. Mo eorvection required
58, Several of our projects have deloyed beeause the

equipment we ordered was delivered late.

1. hawe been dakayed when

2. dedayed hecause of

3, are delnyed since

4. were debeyed wilh

§. Mo correcthon required
57, The committes has raled out the possible roising

taxes for {his financial year,

1. possibly rained 9, passible rise of

4, poesibility to raise . possibllity of raising -

§. No correciion required

Directions (S5-62): Tn eoch question below o peatenee

with four words printed in bold type is given. Thess &
pgmbored ae (1, (30, (3} and (4], One of thess fowr worda
printsd in bold may be either wrongly spell or inappro.
priste in the ontext of the seolencs Findout the word
which is wrongly spelt or inappropriate if my. The mkar
of that waord b6 Fewr answer. I afl the werds yrinted in bokd
are porrectly spelt and nlso appropriate in the context of the
gentence, mark (5 L2 Al coTrect’ as yoar answer.
68, Under existing (17 regulations we are not permitted

{4V to owe (3 more than a forly percent share (4 of

the family business. All eorreet (5).

59, I ense of any land dispute (10 penchagpat officiale
(2% wil] determine (31 bow the progerty is t b div-
idend (41 Al porrect [5h

B0, The Werld Bank has consented (10 d0 sanethon (21
the mecessary (3Y fnanes (41 for the projct. All cor-
ot (5L, . i

6l. To oldain (1¥ a refusd you will have to BIF (2}
claim (14 with the sppropriate (4} authori
et (63,

62, Experts predict (10 there will be shortage
investment (3 o the infrastructurs |
poreed. (B

Dhreckions (6-67); Hearrangs the

bemca (A, (B 00, (D) (B and (F) s 1

to form a eresndngfol poragraph; then gms
W them

A. The hull was filled with child
family mesibers and thees
B. Mormally such sremenins i
ponple like indusirinliskpm
. What [ saw when [ #e

On Towemnt howd wit a1 T0WE 4 Ms anuEl-
al aath tzking i

4.0

. 4. E

i, Which of the following shoul] e the SECOND
sentence after rearrangement?
1LB 2.C 30 £ E .

5 P
G5 Which of the Following should be the THIRD sen-
tener after rearrangement? '

LA B e 4T
5 E
#8, Which of the following should be the FIFTH sea-
temce after rearrangement?
LB a.c D i E
& F

7. Which of the following should be the LAST
{SIXTH) sentence alter rearrangement?
iA LB 3.0 4. B

Dirgetions (BE-T2h Fis sembense o find our
whether there i3 any g .

im it. Tl erron, iF amy
The namber of that part’
the anavweer 18 {5 T toation, o eny)

£ {20 the President of

; cilitses (1) are Henited onlby a {2V
: ooy (31 gelactad for trokning {4k

parveiv (1) the panel ashed me (21 aev-
nlcal guestions {31 and 1 anewered all of it (4
1.

e to work for (10 as BNGO), but most of kis G2
;iadas opted for high pasd (3K jobe in mualtina-
pemal commpanias (4), No ermor {51

ro printed below the passape and agaised each, five words
suggpeetad, one of which fiss the blank approprintely.
Firal st the approperinte words in each casa,

When we T3 started thirty yenrs ago in 1977, we did not
know anything about how to run a bank for the poor, We
therefire Jooked at how others ran thelr operations and T4
From thelr mistakes In Bangladesh, comventional banke
and eredit so-oparatives olways TH lomp sum repayments
This created T8 problems becsuse repaying in o lamp sam
was g mental hardle for borrowers. They tended to dalay
ropaymant and get further indo debt in the 77. In the end
they uswally 78 totaliy oo the loan, which was & loss to the
bank. In trseturing mer cwm boans, [ decided to ask for o
daily payment. Monitoring repaymimt was 79 and it flled
pungle with B0 that they could repay their Jonns,

73, 1. firatly 4. freahly

3. foremnss 4. initinlly
. B mcontly

4. 1 copied 2, ghaerved
3, bearnaad 4. anderstond
5. improving

78, 1. ashed ' 2 imedeted
3. demmded i sediled
5 lepmd

T 1 serve 2. 00
A, addktionally 4. varieiy
5. plesty

77, 1 time L. process
3. rebsrm 4. pvend
& notiom

TR, 1. cioglestad 2, ahnedoned
3, defoalted ' 4, dopanded
5. disappointed

48, 1. benefit & pREiRT



8

3. reckless 4. tiscrgamissd P
£, meours

1. penpe 2. confidemnps

. challenge 4. doubt

Dractons (81.80) What should comes m place of the
paestion mark (T in the follrwing questions 7
Bl

ruestion mark (7} in the following numbe

9L 121 117 108 . HE 8T T
1. 31 P 4]
5. Moo of these

B2 60 26 14 T 6 A6

(TE0 = GH) = 4B=7
1. 1084 2. 0024 3. 1048 4. 1046
5. Mone of theze
13824 /7 = 864
1. 1E96 I 3100 4. 1024
E. Mone of thes
80% of 20% of 3 th of ? = 450
1. E200 2 G340 & G150 4. G275
5. None of thess
1= 048 + 158 =7
1, 1154 . 1200 3. 1138 4, 1176
5, Kama of these

35+ 1125 x4 6=-020=T
b 18275 2 E1LE35 4, 8037T8 4. MA4E
&, Mong 2f these
4008 <58 _,
gyt
136 e L 4 a2 ~d, 44
E. Mone of ithese
{BHFE0 + 26846 - BEEAD) + BE00 = 7
1. 36.566 4. 30.088 3 32048 4. 36.066
5, Mome of these
TA14 = JESH & 1267 + 18689 = 7
1. 14328 Z. 14458 3, 15428 4, 1248
5. Nona of these '

o (IR & (4105 - T = DRER
1, 11286 2 10E1g 4. MHod 4. el
5. Mone of these
(DB40 = 48) ® (2240 £ 86 = T
1. 3520 2. 3515 I 3455 4, 450
B Mone of these

Thirections (91-05) What should com

1.8 B
G, Mome of these
3 81 48 ? B3
1.33 25
£ Mone of these
T48 737 T1h 4684

i

4. 144

2 153
5, Nome of these
87, In how many different ways can the lotbers of
the word 'ARISE' be areanged?

1. 148 5 156

L 4 .60 4. 180
3. Mone of these

&8, The number of employees in Companies A Band -
C wre in o ratio of 4 16 ¢ 6 respectively, If the nom.
her of employess in the Compantas s ncreased
by 25%, 20% and 60% respectively, what will be
the mow ratio of employess working [a
Companles A, B and C reapoctivaly?
L13:10: 18 2.0 10:15: 17
3.13:15: 18 4. Comnot be dedermined
&, Mome of thesn :

5, The average of five positive numbers is 215 The
average of the first two mambsers is 333,06 and the
average of lastk two is £71, What is ihe
third mamber?
1. 64

4. 12

1106 inad
5. Mone of these
kir ifpnathly salary in

1M, Sonmall invests

6 Varions Societies Over the Years

"'\—\..j_‘,l" L] B
s Zr Total | ool [Toca | Sof | Tetwd | Boof [Feel | %ol Teal
T{;’ o | Emi | B | Bewl | Wom | Best | an | Bl | Wam | Besl
(,"m oo |(dernin B dacis | el P pillaarie n |idpais
i |0 | 2 (@0 | 35 (200 | én | 130 | a0 |20
a5 | W0 | &0 | &Td | &8 | 250 | B0 | 130 || €& | 24D
2e0d | = | ze8 | 45 |30 |45 |60 | T [mon | 50 |2s0
W06 | 40 |20 | B5 |2m0 | G5 |2e0 | eo forp | 4B |23
2006 | M0 |0 | M| A% |40 | & J2m | B0 | 240
ae07 { 60 (240 | m0 |30 | o 280 | @0 [230 | a0 | 280
101, What is the difference between the total rosi-

dents living in all the sovieties together in the
year 2008 and the totnl residents living in all the
societies together in the year 20077
1,1 2 & E 4.5
5, Mone of thess

102, What is the averagn mumbser of men Hving in al
the societies together in the yaar 20057

L 110 L
i 115 4. 15
& Mone of tkees

103 What is the respestive ratio of men liﬂm in
Bociety C in the peur 2002 to the year 20037

1L15:15 @ 11156
i1 4. 1315
5, Mome of thess

1. What is the average number of women living in
all the sovieties logeiber in the year 20067

1, 130 ' o8]
9. 125 4. 140
B, Morle of these

105, What is the respective ratio of the number of
women to the total residents in Society E over

the vears?
L GBB: L4% T 344 : TA5
3173 : 358 4. 346 717

i Mone of thesn



10, What approsimate pmount of compound interest
can be obtained on an amount of s, 8, 850 ai the

rate of & p.oopoi at the ead of 3 years?

L Ha. 1,737 2. Es 1,080
3. Hs. 1,780 4, Be., 1 860
6. Ha, 1,843

107, A milkman sells 120 lires of milk for s 3380
and he sells 240 litres of milk for Ra, 6,150, How
miunch coneossion does the trader give per litve of
milk, when he sells 240 Hires of mille?

1. Fs & 2. R 88 LPRsZ5 4.Rseld
5. Noma of thaese

108 When 3828 is divided by the square of a number
and the answer so obiainsd is multiplied by 3%,
the final answer obtained is 2368, What is the
numiberT
1.7 b [ 344 4.4
5. Nome of thess

108, The sum of the digits of a two digit number is 14,
Tha differcnce between the fest digit and the
gecand diglt of the two digit numbers is 2, What
is the produst of the two digits of the two digic
number?

"1 6@ 2 4B 3, 44 )
& Cannot be determined. 5§, Nooe of thess

1 A car runs at the speed of 50 kmph when not

serviced and runs at 60 km ph. when serviced,

After servicing the car vovers a certaln distance

in B hours., How much time will the car take to

cover the same distance when not serviced?

1. 8.2 hours 2. 6.5 hoara

&, B howrs 4, 7.2 hours

5, MNome of thoss o

pvetfors (FI-II8R Study the following graph

andl answer the quastione given below it

Mumber of Stadents fram Vardous Poeulties stady-
s i Yarious Colleges (Mumiper Bz Thousandsh

:'. hrs E".!hr-u:r-:-:-' f_' Fadumnon

) o e ——— -

o
5 A
| 1
_E y o
i
WL What is dhe ratie of ths Troan
thi igulty of Arta s B Lo the

tumiser of sdude

1.55:4 1 J. 100 13
b, Mume of the
1EE, What is ihe by Gf stodemts study-

W Wihiat s h ge naTnber of students from the
m &l the colleges together?
S0 4. 27000 4 RS
3. Mome of Lhdsg
Lk The sfwidents fron: the faculiy of Commerce
sudving in college B are approvimately what
per cont of the total number of stadenits in (he
same college?

1 & 235 1. 43 4, 48

5583

115 What is the differencs botwesn the total pumber

of students feom the faculty of Commerce from
alf the colleges topether and the total number of
studeasts from the facnliy of Science from all the
oolicges Logether?
LIy 2100 5 25000 . 15000
& fope af them :

Directions (6130 What approximate valse

shouid come i placo of the question mark 17) in the follow.
18 featiens T (You are not axpetod to ralmiete the wxar
vl |

08 BG4 =348 = 7

1. 575 E AT

i

T OF REASONING ABILITY |

meaningful three letter English
s van be formesd with the letters AER, wsing
h Idftter only ence in each word?
| Moane 4. One 3. Twn 4. Thres
fi, Fawr

22 Each vowel of the word ADJECTIVE is substi-

tuted with the next leider of the English alpha-
betical sevies, and each consonant is substioated
with the letter preeeding 1 How mony vowels
are present in the pew arrangoment?

1. Home I O 4 Twio 4. Thres

§ Nooe ol these

128 In & edvtain code 'ma pa ko o' moans Tleds Ty

very high', 'ri se la pa' means 'birds ave very
beautiful' and 'ti me ka bo' means ‘the parsots
could fiy'. Which of the fellewing L the cade for

high' in chat language?
Lila T ka 3k 4, 50
fi. Momo of thess

124, If the digits in the namber 26435192 arc

arranged tn ascending order, what will be the
difference betwesn che digits which Ao second
from the right and fourth from the lefl in ihe
neEw LrTAngEment?

1. Cme T Two 3. Thres 4. Fuur

5. Mane

120, It it is possibde eo make only one meaningful

wiord with the Third, Seventh, Eighih and Terth
bedters of the word COMPATIBILITY, which of
the following would be the last letcer of chat
word? If ne sach word can be meade, glve X s
your angwer and f more than ome such word can
be: fyrmed, give your answaer as Y,

1.1 il 1 L 4. X

4y L

126 Tn a certain code FINE is written HGPC, How is

SLIT written in thot code?
1L.UTGE 2 UTHRE 4. TUGE 4 RUGT
3, Mons of these

I
1



127, If in o certaln language LATE is coded as 8848
and HIKE is coded a8 To3$ then bow will HalL
be coded in the same langoate?

I Tkfx 2. ETwH 1, Twelks 4. T&#R

. 5. Nome of these o !

128, Four of the: following five are alike in a certain
way and =0 form o growp, Which is the cne that

does mot belong to that group?
1. Btam i Tree 3. Hoat 4. Branch
f. Leaf i

128, If "Apple’ is called "Orange’, ‘Orange’ is called -
'Peach’, 'Peoach' iz called 'Potade’, "Potate' is
called "Banana', 'Banana’ is called 'Papaya’, and
"Papara' is ealled Chaava', which of the following
grows undergronmt? )
1,Potate 2 Guave 5 Apple 4. Banoma
5, Hoowe of thess

15 How many such pairs of leiers are there in
word 'ENGLIZH', each of which kas as many let-
tors bedwesn its two letters as there are hotwesa
them in the English alhpabets? h :
1. Nope 2. Ome i Temn 4, Thraa
E.I'I'rlnur'l: thon thres

Diimpections [I31-I354 In each of the questions below

are given thres stetements fllowsd by two conclusions
eembared [ and 11 You have s take the given statemimis
to be true even i they pesgn Lo be Al varianee from com-
monky known facts, Read hoth of the tondugions and then
decide which of the given conclasions legically follows from
the given statements disregarding commonly ke farts.

Eead the statements and the condusions which follow
it and--

Give answer (1) if only conelasion [ is trae.

Give answer (21 if anly conclusion T s tran,

Crive answer (3} if sither conclugion 1 or comulusion 11

15 b,

Give pnswer (4} if cnly nefther conclugion I nor eon-
chasiom IT is Erua,
{FHve answer (6 if both conclusions T and 11 are tras

151 Statements:

Al gtars are sans

Sgene guns are planets.

Al plamets are sntalfiton

Conelusd oms:

I Some eutnllites ane stare.

5. Mo star is p satellile.
182, Statements:

Al curtadns arn rods
Bome rods are ghoats .
Sonse shoeeta are pillows,
Conclusions
L Scene pillows are pod

1. Some posds are cuirka
138, Beatemmonte

I Al birds are cows,
[[. Al rats are fishes.

Zome walls ore windows

o windews ate doors.

All dpors are roafs

Conclusions;

L. Some doors are walls.

II. Mo roof is & window.

Dircetions (1361400 Study the ssts of manbers given

bolow amd amewer the questions, which Ellow:

48 541 G54 053 TS4
L B dn each nuwmber, all the three digits are

arranged in ascending order, wlich of ithe fol-

lowing will be the lowest mamlser?

1 489 2 0 3. 654 4. 953

d.4

h will be the third high-

4. 65 4. G5

digit of lowest number is subiracted
second diglt of highest namber after
nne to ench of fhe nambers?

22 3.3 44

“in each wumber, the first and the last digiis
are interchanged, which of the following will e
the seeond highest number?

1488 © A4 5. 654 4. 953
b, TaY
Directions (14I-T430 Reodd the Tollowing informatinn

tarefially and answer the questions, which fillow

‘A = B means ‘A b fatker of B

‘A = B means ‘A is dnaghter of B
‘A + B' means ‘A i3 s of B

‘A B meane ‘A is wile of B,

141, How is P related to T in the expression 'Ps5-T' ¢

LSiser Wi 5.8 4 Dughler

5. Mone of thess
B2 In thee expresslon P x 6 - T' how is T related o

e
1. Daughter 2. Bigter
3. Mother 4. Camiot e dertermined
G, Mo of thees

148 Which of the following means T is wife of B
1LP=x5=T ) ZP+ExT
LP-5+T LFsT+B
b, Moma of theas

1. Which of ihe following means P is grandson of 5%
LEP+Q-5% LP+Qu= 5
P +g+§ 4 Pu+B
G. Mung of thess

143; In the expressbon P = § 5 T' how i3 T related to
B :

1. Mother 1. Father
3. Bom 4. Broskir
5. Mone of thesp

Lhirecions {F48-1500: In sseh question a group of ket

1385, Statements

Lere ie given fllowed by four combinations of numbereym-
il mamibsered (10, 020, (3) and (4}, Letbers are to be coded as



par the schieme and condithng given bedow. You have to find
out the serial number of the combanation, which represents
the letter groap. Serial oumbes of that eombinatics & Fear
amewar, 1f nome of the combinations is correct, yous answor
is [5) ie. Neme of these,

anrﬂﬂ]‘&lnsnuﬁ;Lrnng

uwmber
Symhbal TE|+I}%$&IE.E|}*EB&
Conditioms
i, If the fret ietber ip & conscannt and the last 2 vowel,
both are by be eoded os the onde of the vowel.
i IFthe [rat lotter is vowel and the last 2 eonsonant, the
-mdulhrlh&r:bmdﬂw]ntu{utnbehhmhnwd.
i, TF mo vowels is pressat in the group of letters, the seo-
ond and the K belters are b0 be coded as DL

L. BARNIS
1. D2+ a54 - FE
4. Ak ER d. e E%d
. Mone of these
147, DMENLA :
1. BEGCLHD 2, BRNG
5, IRYnED 4, PRCEAT
" & Nong of these
48, IJBRLG ’
1 ERgREd | L aEOwER
A, EEOw DN 4. $RO IS
5, None of these
148, BEHGQIN
L TR pale L ot
LA T 4. W1FTED
160, EGAKRL
L #E§2I4 L ERE13 G £521wd 4 ALERIR
&, Mome of thess

Direstivas {151-156); Study the following informa-
tion carefully o answar these questions.

Fight persans &, B, C, D, E , F & and H wark for th
different compamies namely X, ¥ and 7. Mol more lh

in tha group whe have different specizlisatoons and
far different companing ﬂ:’rhegmupacrﬁ-umd: 1.-m :
specialisation in exth HRE, Finones and Marke
member is an engimeer and one 2 & dostos,
cialist ard works with a Marketing spml.a.llat u
not work for company ¥, C & en enginssT oy
mum-:um:pu_l.lt.[lua epezialist ip

eompany X in which only bwo =3
manrieting spacinlies or a
160 Which af the

163, Which g fellowing pairs represents the two
ladion in Lk

LAand D 2 Bned O
3 Dand G 4. Dara inadeguats
5. Nomie of these
15k Which of the following represents the pakr work-

ing in the same oompany? '
1.DandC 2 AandB 3. AmdE L HandF

5. Moos of thess l
165, Who amengst the friends is a doctar?

1LH LE L 4. Either Eor

§. Nooe of these

Directions [156-I60) ln each of the questions given
belvw which cne of the five answer figures should come
aftar the problem figares if the sequonce wers cantinoed?
156 Problem Figares

161, Closing the Sale means
i. cidse down morketing funclions
2 shop selling
3. pupcesshial completion of a cull
4. Al off thess
&, Mong: of thase

182. Buywr Resistance menans




" L. buyers fighting with the salasman

2 relosfant sabemen
i indifferemt snlesmen
4. hesitant bayers

.ELﬂﬁmﬂl'thuu ) B
Markeiting can be sttractive if

1. palepmen nre attractine

2. pustomers are atiractive

3. more cuglomers are attractsd
4, Al of these

5. Keme of thess

| 164, Customisation means

170 Customer Service

178

1. produsts for specifie sustomers
2 good rostomer ssrvies

i. bad cuslemer soFvice

4. after-zales service

5. Noae of thees

135 Effecilve communication is

1, not required if demnasd sxeeeds sapply
% a sifw-gaa-nen for merketing
% good voczbulary

- 4. Al 6f thess

* 0, Mome of thess

(1R Motivation means

1, keeping the saleswsn hagpy
2. keepbng the stafl happy

3. meore entbusisem

4. more tean-whrk

5, All of these

167, Relaticnship Marketing means

1, selling ta relatives
2. selling by relatives -
9. pfter sales servios

4 crose-selling

5, All of these

168, Bancassurance meians

1, assuring to repay benk Innns

0. sssuring Lo repny eredit card duss

4. asuTing to repay lome kan does

4. insuramis of hanks

5, pidling of Insuranés (REswrnnee) produe R

168, Pulslic Relations is

1. part of Custonser Service
g part of Marketing

3. part of [mage Building
4. Al of thess
5, Mone of thess

1. is an integral part of ma
. has no mobe in markdEsg

8. all the um' L
4. =ales reprepentatives
B gmpﬂpmp&cﬁh:lytohuymmﬂfnﬂpuﬁmt

171, The meaning of digital marketing is

1. salling digital goods

2. salking caloalatens

3. seiling through inlernet
4 Al of thess

5, Mo of these

11'-L Market Flan is

1. an #ation plan for day-to-day marketing

2, effective selling steps

3. effective buying steps i

i a comprabensive doruments for marketing sirat-
gies

5. Al of thess

|lTE. Hn-kaﬂn[ Ztrategies means

1. plan for effective matiaing

il M]ufthin
5, Mone of these

5, Ouly 3 and 4

174 Marketing is

1. a day-te-day fapction 2. = one-off affair
% peoe-gan show 4. & oellective process
5, o means to earn exted SeEma

180, Marketing is reguired in banks due o

1. globaliration

L compuberieation

3 intrease m popalation

4. povaramant dictates

5, Mows of thess

Which of the following groups consist of only
Input devices?

L Mouse, Keyboard, Monitos
2, Mouse, Keyboard, Printer
&, Moiasa, Keyboard, Flottar
4, Mouge, Keyboard, Scarmer
5, Kome of thess

152 The most eomman meihad of eniering text and

numeritieal data inte a computer system is
through the use of &

1. kegberd 2, scanmer 3. printer 4, plotter

8, Mose of thewa

183, Hardwares inchodes

L. all dewices teed o inpud dats I-m»amputﬁr

T uudmumumamntnmpuhcmsurm?l-
: )

2. the eomputer and all the devices conmected to it
that are nsed to impat and muigut data

4. all deviess {ovolved processing information melad-
ing the rentral processing unit, mesary, and e
Age

B. Moo af Lhesa



18k A chat is
1. an Interned ptandard that allows users to uplond
anud download files
3. a typed conversation that takes place o 8 cosputer
3. an anline aren in which users condwet written dis-
cuesiona akout @ particular subject
4. the tranemission of messages and files via o com-
puser nedwork
5. Moni of thesn
185, The outpat devices make it possible to
1. view or print data 2, ptown date
1. sean data 4. mput data
5. Moms of thees
186 The informalion you put inle the computer is
- oalled
1, faets % data 3. fles 4 direslery
&, Mome of Lhese
1B7. The person who writes and tests computer pro-
grams ls called a

1. programmer 2. compuler scieatist
4. software engleesr 4, project developer
. Mmne of these

158 E-mail (glectronic mail) is
l. an Infernet stamdard thot allows wsers o upload

" and dewnlosd filag

2. areal-time ped sonversation that takes plaze m s
compier

% an online aren i whick wsers conduck written dis-
cusglma aboul & particular subiect "

4, the transmissicn of messages and files viga com-
puter motmork - n

5. Mime of thess -

188, Hestarting a computer that is already on s

referred o as

1 shut down 2. pold booting

3. warm hooting 4. bogging off

5. Moo of thoss

1L The name that the wser gives to o document
referred to as '

1. docomend-mamse 2, fibe-namse
I name-given 4. documaent-idendity
& Mone of thess

181, & hard copy of a document 15
L. printed om the printer
2 slored onca lleppy
3. sloged on p CD
4. gored in the hard disk
. Mone: of thoes

152, Where is the disk pul i Tt
i. In the modem . d drive
1. Inte the CPD : 3

A, Mone of these
145 Which of the following are computers thai ean
b carried around easily?
L. Minkomputers 2. Buparsamputers
3. PCy #, Laptaps

156, Alnd — is a device Lhat electronically proonss

§. Mone of these ' 1
ex data, sonverting it Lo information, |

L. algorithm 2. eomiputer
1. softwarg 4. progTim
5. Maona af thess
197, The name of the compoter's brain is
1. maomitor % hardware
3. I 4. byt
& Mone of thew
138, This can be another word for program
1. software Z disk
3. Boppy 4. hardwane

B Mone of thase
1, —— 5 @ ser ol bols, amd o syséem
. menls by which

s b i
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